

Př. 1: Vynásob:

$3,8 \cdot 2,5 =$

$7,23 \cdot 4,1 =$

$6,2 \cdot 13,5 =$

$8,4 \cdot 0,24 =$

Př. 2: Vyděl:

$8,4 : 4 =$

$12,3 : 8 =$

$172,2 : 14 =$

$2286,9 : 27 =$

Př. 3: Vyděl:

$4,8 : 2 =$

$20,4 : 3 =$

$17,2 : 4 =$

$26,3 : 5 =$

$48,18 : 6 =$

Př. 4: Vyděl:

$303,8 : 8 =$

$441 : 45 =$

$833 : 85 =$

$254,8 : 26 =$

Př. 5: Vyděl:

$0,25 : 5 =$

$0,483 : 3 =$

$0,735 : 15 =$

$0,085 : 25 =$

Př. 1: Vynásob:

$3,8 \cdot 2,5 =$

$7,23 \cdot 4,1 =$

$6,2 \cdot 13,5 =$

$8,4 \cdot 0,24 =$

Př. 2: Vyděl:

$8,4 : 4 =$

$12,3 : 8 =$

$172,2 : 14 =$

$2286,9 : 27 =$

Př. 3: Vyděl:

$4,8 : 2 =$

$20,4 : 3 =$

$17,2 : 4 =$

$26,3 : 5 =$

$48,18 : 6 =$

Př. 4: Vyděl:

$303,8 : 8 =$

$441 : 45 =$

$833 : 85 =$

$254,8 : 26 =$

Př. 5: Vyděl:

$0,25 : 5 =$

$0,483 : 3 =$

$0,735 : 15 =$

$0,085 : 25 =$

Př. 1: Vynásob:

$3,8 \cdot 2,5 =$

$7,23 \cdot 4,1 =$

$6,2 \cdot 13,5 =$

$8,4 \cdot 0,24 =$

Př. 2: Vyděl:

$8,4 : 4 =$

$12,3 : 8 =$

$172,2 : 14 =$

$2286,9 : 27 =$

Př. 3: Vyděl:

$4,8 : 2 =$

$20,4 : 3 =$

$17,2 : 4 =$

$26,3 : 5 =$

$48,18 : 6 =$

Př. 4: Vyděl:

$303,8 : 8 =$

$441 : 45 =$

$833 : 85 =$

$254,8 : 26 =$

Př. 5: Vyděl:

$0,25 : 5 =$

$0,483 : 3 =$

$0,735 : 15 =$

$0,085 : 25 =$